= A
N = 0] &F AF S & AN A
20138 & 20 A LB H AZ Y LMY ~ AETXY N
S A=Y M
HEM: ALY 4
ool AREHS S4 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AT XY AN 5,732,249 4,653,762 1,078,487
J| 126,990
&< 302,862
Al 5,302,397
Mo 4 5,625,325 4,545,978 1,079,347
J| 126,990
= 302,862
Al 5,195,473
A EM=E 4 2,997,694 2,270,026 727,668
2ATOHAE M3l st 4,700 6,500 A 1,800
201 et d| 4,000 6,000 A 2,000
03 HAI2 HHI 4,000 6,000 A 2,000
OHA sk st 4,000
301 et A= 700 500 200
10 HAFAHI B a2 700 500 200
o825 B4 700
NEAATZIXCA 4 26,720 28,720 A 2,000
201 et | 6,000 6,000 0
03 A2 HH| 6,000 6,000 0
OAZ ®= 2 = =9 S 6,000
202 044l 9,720 9,720 0]
01 2L I 9,720 9,720 0
OAZE)|E YREX
81,000& = 39 * 22 * 203 9,720
203 ¥ 2 = &4 8,000 10,000 A 2,000
03 Al 2 =& 2 = X H| 8,000 10,000 A 2,000
O&= 2 =42 stz | 8,000
307 2iz2to| & 3,000 3,000 0
01 sd =t 3,000 3,000 0
OMSHAMIE 2SS 2L 3,000
2o M43t 2,400 6,000 A 3,600
301 et A= 2,400 6,000 A 3,600
10 HALAHI B A2 2,400 6,000 A 3,600
QX0 delEXM=UE &I 1,200
OZoe MeESdstal &It 1,200
EHEAINERE 29X 91,118 107,680 N 16,562
307 2iz2to| A 91,118 107,680 N 16,562
02 QI2tH AP X 91,118 107,680 N 16,562
OEHBHAI M= E 21 24H]| 77,000




EM: AZXY N
FM: HsdE 84
ol AREHS S4 CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SANR=2E 4,083,330& = 123 49,000
o 2HA 2,333,330& » 128 28,000
C4liEdg = 7,700
SANRIE 49,000,000& = 10% 4,900
o Z2HA 28,000,000& * 10% 2,800
OIS ESESN=E=, 6,418
CAR2E 49,000,000& * 1/12 4,084
= ZHAH 28,000,000& = 1/12 2,334
20N A E DL 150,000 150,000 0
307 21201 A 150,000 150,000 0
04 QIZHSHALE & 150,000 150,000 0
ORM483 ZRATIHA &It 150,000
Stud=sg4ds X 1,015,430 404,600 610,830
308 XXM S0 A 1,015,430 404,600 610,830
06 WSII20HEt2x= 1,015,430 404,600 610,830
Ostlis S483 XN 78,720
02013 22 2FNSUE & SwiH=s2435
PNE-:! 175,210
OstugdHera N&=S 10,000
OU=SZA Ms2 AESZAHEHHIIAHSD) 350,000
OQXZEL ZESAH(EXX) 350,000
OXZE 2SAHEXNEED) 16,500
OAJEg & Xtg P2 35,000
AL EM=UHS X 13,000 13,000 0
201 Yer2 Y| 5,000 5,000 0
01 At 22l 5,000 5,000 0
OdXlggdst JIE3 & 22 ME 5,000
301 et a3 8,000 8,000 0
10 HALAHIEAZ 8,000 8,000 0
OAUZNSUHE QIAHARA B4 8,000
M= YU CHS LelEMSHS 1,434,000 1,322,000 112,000
307 i+l & 1,434,000 1,322,000 112,000
04 QIZFHALE X 1,434,000 1,322,000 112,000
OF=2 L T2 MSH3 N 1,412,000
OdelEXN=S &It 22,000
ANEI| HRAEMKHE Ha 8,000 8,000 0
307 gl2tol & 8,000 8,000 0
04 QIZHHALE & 8,000 8,000 0
OAEI dlEMEUSE MHE(2Z) 8,000




A AZ=HMD
N MsNY |4
delEXM=E |4 (22 &d)

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
MUAFIE AHBL20IUE 10,000 10,000 0
307 2iz2to| & 10,000 10,000 0
04 QI2H8H AL R 10,000 10,000 0
OatdEIIE A2d<eldlthsl = 10,000
HMH=EDFAIS 28,800 0 28,800
307 QI2t0| & 28,800 0 28,800
04 QI2FSHALE X 28,800 0 28,800
O=ZHM=WFI AL 20,000
02013 & - = - 2HA==EUS A 8,800
dEXME 435 X2 213,526 213,526 0
307 2iz2to| & 213,526 213,526 0
03 Al S HIE X2 16,670 16,670 0
OMEE0F AIZISHHEXZS 16,670
04 QI2tSHALE & 196,856 196,856 0]
OMESIEH (L2EASE 84 &) 196,856
IS0l X ay 880,317 744,524 135,793
J| 126,990
& 2,862
Al 750,465
EHeEAIME =S S XA 86,384 82,590 3,794
307 212t0| & 86,384 82,590 3,794
02 QI2tA A X 86,384 82,590 3,794
OEHBAIME Y =T ol21H] 73,000
o AR =& 3,750,000& = 12& 45,000
o 2FAb 2,333,333 » 12€ 28,000
(@I E=R=:N= 7,300
o AR =2 & 45,000,000 * 10% 4,500
o 2HA} 28,000,000& * 10% 2,800
OlEESESE=x=) 6,084
o MNERE 45,000,000 = 1/12 3,750
o 2FAF 28,000,000 = 1/12 2,334
AT METFUHE =} 88,000 78,500 9,500
307 212t0| & 88,000 78,500 9,500
04 QI2tSHALE & 88,000 78,500 9,500
OZJAToMEHY=UE Ot 76,000
O&oe AAZ0IMEHSMHS I 12,000
MEH=ISH 6,470 6,900 AN430
J| 3,235
Al 3,235
307 QI2t0| ™ 6,470 6,900 AN430




2N AT
3 MsaY |4
ool MBSO K CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
J| 3,235
Al 3,235
02 DIt A8 X 6,470 6,900 A 430
Odex=s 2L 6,470
J| 3,235
Al 3,235
HEN=X X B 136,080 136,080 0
J| 66,240
Al 69,840
307 21201 A 136,080 136,080 0
J| 66,240
Al 69,840
02 plZtF A2 X 136,080 136,080 0
OMEMSX A BHXI
1,840,000& * 6¥ » 128 132,480
J| 66,240
Al 66,240
OMENMESXEXN MM
300,000& = 6H = 23l 3,600
ozd dsgs N 90,720 68,040 22,680
J| 44,160
Al 46,560
307 21201 A 90,720 68,040 22,680
J| 44,160
Al 46,560
02 RIZHE A8 X 90,720 68,040 22,680
onza Msgs X
1,840,000& » 128 » 49H 88,320
Jl| 44,160
Al 44,160
OMENESXNEXN MM
300,000& = 23| » 49 2,400
HEH =SS L5 28,184 29,184 A 1,000
201 Let24d] 15,000 14,000 1,000
01 At 2teltl 1,500 2,500 A 1,000
OAZ=Y M HEFH 1,500
02 =224l 13,500 11,500 2,000
ONoIEEE HIIKS 700,000& = 12& 8,400
OAOIE=ZE Mot==232  100,000& » 12& 1,200
OHMSAE IR/ AER 3,900
202 044l 5,184 5,184 0
01 = LH o4 1l 5,184 5,184 0
OAZXY M PR
81,000& = 4H » 2 * 83 5,184
203 YR =&l 8,000 10,000 A2,000
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2N
X ZH -
L= B

el

=
- MR

BB - Sl (31) - NRAY - BES Ol &+ o4 il 2
04 QIZHHALE = 61,500 55,000 6,500
OEHAIR MEXH=CHS i = 59,000
Osad ¥&Ss=0| 8ote 2,500
HH S ™ A 19,079 15,330 3,749
J| 13,355
< 2,862
Al 2,862
BB A 3 19,079 15,330 3,749
J| 13,355
= 2,862
Al 2,862
01 MEIEBEZE+05l= 19,079 15,330 3,749
OAZ=HIRHAS 19,079
SAEXIHIRH AY 19,079
J| 13,355
< 2,862
Al 2,862
HMSIIBtAIE XY - 2tel 1,747,314 1,531,428 215,886
= 300,000
Al 1,447,314
SEZIE 222 900,860 772,400 128,460
< 300,000
Al 600,860
jeilala]l 21,696 19,008 2,688
N2 2RSS E* 21,696 19,008 2,688
Oo&ci&el 22X E= 21,696
S == 38,8803 * 2% 200 15,552
oFF 38,8803 * 2% » 43¢ 3,344
o 2HAlY| 3,000& * 298 * 200 1,200
o H A F I 400,000& = 2% « 23| 1,600
2Bt | 139,572 131,472 8,100
At 2t el | 40,572 40,572 0
OZJZE Algzel 29 8,000
O=2%®X AABZ 10,000
OZJNE ANE 2R
60,0003 = 3.398 » 114 22,572
=323l 99,000 90,900 8,100
02323 % HA 49,200
oMILB(THLA) 800,000& = 123 9,600
oMot ER3 2,800,000& * 128 33,600
cEIMNERES 400,000& = 23l 800
¥R FHeE 5,000,000& * 13l 5,000
o XtS XA (1TH) 100




2N AT
3 MsaY |4
Sl ASIIBAMES - 22 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oltsx HULHZ 50,0008 * 104 » 23 100
O =zl 5,000
oZEEIIE el 400,000& » 5 2,000
oXxtgy & XCOIIAH d=2dl
300,000& = 103 3,000
OAl& & Hl s Xl 28,000
oTEHAIE MEE S22l (9MLA) 28,000
O Xttt 3,600
ostEsa¥™ 300,000& = 12& 3,600
ORQAHIAAE KX 2 Y
500,000& = 12& 6,000
O2e+HelAd sX&e 84
300,000& = 202 = 12& 7,200
202 044l 2,592 3,240 A 648
01 =L o4 1l 2,592 3,240 A 648
Osgdlid &el g2=ad
81,000& = 2H * 2& * 83 2,592
206 M= Hl 20,000 20,000 0
01 24l 20,000 20,000 0
ORCITE 22I(5% HRE) 20,000
401 AIEHIZL 20 700,000 560,000 140,000
< 300,000
Al 400,000
01 A& Bl 695,617 556,556 139,061
Q&2 E |2 IS A 695,617
< 300,000
Al 395,617
03 A& SR THHI 4,383 3,444 939
OLNA27E 2L ESA AR
695,617,0002 * 0.63/100 4,383
405 RHoHE S HI 17,000 38,680 A21,680
01 AL EZFH S 17,000 38,680 A 21,680
OZEZINE Hsd8EMEE 2¢ 4,000
OsgZIE S48 7Y 8,000
OFACIEZ &dAFH E 5,000
DaMs2 2922 248,292 345,658 A 97,366
101 144 dl 21,696 19,008 2,688
4 JI12ZtHZ22HEE =+ 21,696 19,008 2,688
OLEM=s2 2l 22N B 21,696
cJIE= 38,880& * 298 » 200 15,552
oFFd 38,8803 * 2% = 43¢ 3,344
o 2HAlH| 3,000& = 2% = 200 1,200




A M
sty 84
HSINPALES - el Sl )
SAH-EB .S (3H) - HEAY - BE2 il HDS2
ocH&AEF Y| 400,000& * 29 * 23] 1,600
201 LEt2 Y| 179,300 181,300 A 2,000
01 A2 22| bl 17,000 17,000 0
OlNJAMEE Al82e &9 12,000
O=ZgIAE= 5,000
02 332494l 162,300 164,300 A 2,000
O332=2 2 HA 135,300
olMIIR3 6,000,000& = 12& 72,000
oMt ER2 500,000& = 12& 6,000
ocEHANLEEHZ 200,000& * 23] 400
ocldIxTHEzxE 800,000& * 13 800
o) B A= 800,000& * 13 800
odMI|IHMAANE 600,000& * 13 600
oMaXEAZ 20,000& * 100€ * 23 4,000
odtAALEZ 800,000& * 43| 3,200
oI U (UOAHLLE) 9,500,000& * 5& 47,500
OAl& &H| KX Hl| 10,000
cHNIAMSH AMES X2 (2Ha) 10,000
OROBHAIAY 22 24
500,000& = 12& 6,000
ONAASH A5 FUFA 39
6,000,000& * 14 6,000
OLNANEA LI 722 24
250,000& = 12& 3,000
ONEHsA B2 M 24 2,000
202 04| 1,296 1,620 N 324
01 2LHOHI 1,296 1,620 N 324
OLNAAMs2 gR2F4
81,000 » 2 x 22 % 43| 1,296
206 M= Hl 6,000 6,000 0
01 X2t 6,000 6,000 0
o&dg & S4& 42 6,000
401 Al HIL 200 40,000 137,730 AN97,730
01 Al &bl 40,000 137,730 N97,730
ONEHM=2 0I2 ME ZAH 20,000
OFEMSH AFHA BT A 20,000
Jbed DXHSYE F| 5,000 5,000 0
401 Al HI L £ 0HHI 5,000 5,000 0
01 A& HI 5,000 5,000 0
OJedIX = d | 5,000,000& 5,000
SS3HSAIEHUI 50,540 50,540 0




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 50,540 50,540 0
01 A& HI 50,000 50,000 0
OSUHSAIE FH 20,000
OAOIEE"E FHI 30,000
03 Al 2 THHI 540 540 0
OZ33HEAE ZHAY 20
50,000,000& * 1.08/100 540
Jdet2t =2 &8 MY 151,080 0 151,080
401 Al HI R 201 I 151,080 0 151,080
01 A& HI 150,000 0 150,000
Odet2t 28F =4 24 150,000
03 Al 2 THHI 1,080 0 1,080
Odetgt =28 =4 1,080
253 HOESFE A 100,900 0 100,900
401 AIEHI L 2CHEI 100,900 0 100,900
01 A& Bl 100,000 0 100,000
Oax&Es AHolE=27E x4 100,000
03 Al S THHI 900 0 900
OA&Es AHoEERE =4 20U
100,000,000& * 0.90/100 900
=UMSdH 29 290,642 317,830 A27,188
307 glz2tol & 290,642 317,830 N27,188
05 RIZHRI &t 3 290,642 317,830 N27,188
O=2HMsHH 2U2HAE CHAAMS 290,642
HY2HAH (A=) 56,924 57,784 A 860
ol 2 gl 21,084 19,500 1,584
ol A 21,084 19,500 1,584
101 @144 Hl 21,084 19,500 1,584
03 RIAHAZZ2 T2+ 21,084 19,500 1,584
OZTEZIE 22l 22X E= 21,084
=JlE= 38,880& * 198 270 10,498
oca03 10,498,000& * 4/12 3,500
cHXRSFII=E 38,8803 * 18 » 20 778
S EEEEEN
7,290 *+ 18 » 20A12t » 128 1,750
oFFH 38,880 * 1H = 52¢ 2,022
o EESIHHI 400,000& = 23l 800
oIt 3 10,497,600& * 10/100 1,050
SRS Fals] 19,598,000 = 3.5/100 686




EM: AZXY N
M HERIYIU(AEZ=H M)
& 123l )
x = - 4 14
S BB (S) - MRAY - BES e Hl D= 2t
Jl234l 35,840 38,284 N2,444
Jl23l 35,840 38,284 N2,444
201 LB-2d| 30,360 32,724 A2,364
01 At 22l 30,360 32,724 N2,364
ORNME2Y Jl=ZHl 6,600
ocALE=)|E 300,000& = 123 3,600
o ALZ X AL 250,000 = 12& 3,000
OMREE FL(SEMA S) 4,800
ocALZX)|E 200,000& = 12& 2,400
o AT=AlML 200,000& = 123 2,400
OHFARII 288 F 7,200
oAIZX)|E 300,000& = 404 = 23| 2,400
ocATXYH 300,000& * 200 = 23| 1,200
o ALZLXAlA 300,000& = 601 = 23| 3,600
O= &l 11,760
oALZX]|E 7,000& = 10Y = 7 x 123 5,880
o ALE=AlML 7,000& * 10 + 72 ~ 123 5,880
202 04l 1,280 1,360 A80
01 = LHO YI 1,280 1,360 A 80
OoHl&azZe 2ol 1,280
203 YR =&t 4,200 4,200 0
04 EAN2IHR2FEHI 4,200 4,200 0
ORAN2EHRFAHI 350,000& = 123 4,200
MRS (ATx M) 50,000 50,000 0
HEHHK = 50,000 50,000 0
LHEHeH X = 50,000 50,000 0
702 JISEES 50,000 50,000 0
0MNII3HEES 50,000 50,000 0
ON=dEII=a d&3 50,000




